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Q.1  Write the corract option i.e. A, B, C and D In the empty box provided opposite to each part.

i) In order pairiotd £ = .....ociveruvernsivnns ' ‘ ]
@ 09 (b 10 _ () (0.1) : @ (©-1
il Let Z be a complex number, then Z+Z=....cumrsssenenns , [E:I
. @ 1 b F © ~z <l @
ity A matrix in which thetgumbe? of rows and number of columin's are net equal, the matrix is called .
................ e matix, '
(a) Diagonal (b}  Rectangular (¢} Scalar (d) Square
iv) Ina square malix A, (AN 1= i _
(a) (A1)? (b) (A) £) A (d) None of these
V) A vector whose magnitude is ong is called ... en vector, ;
{a) Null {b)  Unit _(c) Zero (d) Equal
Vi) If v=3i—2j bea vector, then its Magnitude is [V |= wmeiusenn o
, @ V3 NN © 1 @ V-
vil) (4 LI ) - | § ]
(@ (xi () (Ixk) ) K {d) (kxj)
vl The fourth term of a sequence (-1)*2"1is ..ovvierrieienenns QY « ol
(a) 32 by .-32 © -16 _ ) 16
x) The nth term of a geometric SEQUENCE IS @ = .ecovvvvvverrvinesiiinns : 1
(a} a+{n-1)d (b)  2a*(n-1d {c) arm™ {d)y7arm
X) If A, G and H be the A. Mean, G. Mean and H. Mean respectively, then AxH=.......c..oc.. Ca]
. . . 3
(@ G k) VG € G @ ey
xi) The factorial of zero is always equals 10 ... v vevvreciercaee. ’ - =]
(@) Zero * (b} One (c) Two ©{d) Three
xii)  How many different wards can be formed from lelter "BOOKKE"? o]
(a) 180 (by 120 () 90 (d) 360
i) If A and-B are mutually exclusive events, then (ANB) = ..o i S8L '
(a) Evennumbers ()  Odd numbers {c} Empty {(d) Mone of these

Xiv) If E be an event, then the range of P(E) is ; :
@ O0<PE)s1 () -1<PE)st (o) 1<PE)sC (d) 1sPE)<2

xv) IfAand A are the complementary events, then P(K)= .....................

@ b © P @ PR

wi)  Thenthtermof 1.3+ 24 +35+ s 15 Ta 2 voovreerereenrenen ol
(@ n(n+1) ()  n(n+2) (¢} n(n+3) (d) nin-3)

xvi}  Number of terms in the expansions of @D IS .....coevvvrvevrecenne. —d]
(@) n (b) n+1 {fc} n-1 () nt+2 :

xvii)  When f(-x) = -f(x), then the function f(x} is called ...............oe0ees function,
(@) Odd {b)  Even (¢) Rational {d) Linear '

Xix} - COS(27 = B) = vt . l"__'E_I

' - (&) -cosf (b) cosp ) (c) sinp ¢y —sinp
X cos[%) s » C‘

= cosh 1-sin0 1+cos0 " Tesing
(@ \!’””E“‘ & ! © \[—-—2 @
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Q.2 Answer any Ten parts. Each part carries cqual marks.

®
(i)

- (i)

(i)

v)

' (vi)
: (vi1)
(viii)

(ix)
(x)

i)

(xii)

(xiii)

NOTE:

Q3 @

(b)

Q4 (a)
®)
Q5 (@

(b)
Q6 ()
(b)

LetZy=a+biand Zy=c+ d1, then show that show that 2, +Z,=12, 4-,2: .
Factorize the polynomial P(z) =z’ — 2+ 72

3 2) 2 751 ,
If A=|4 —1|and B=|~1 4|, show that (A+B)'=A'+ B!
6 1| 0 3! -

If A and B are the non-singular matrices, then show that (AB)" = B A",
I'ind the direction cosines of the vector from P(4, 8, -3) to Q(-1, 6, 2).
Show that k , j x i = -1.

Insert two geometric means between 64 and 125,

Find the A, Mean, G. Mean and H. Mean for the numbcrs -6 and —216 and verify
that A x = G%

Find the sum of the series 24 5 + 10 1T+ reraees to n terms. 4
Find n such that "p, =9(""p,Y. ‘ -
Show by mathematiceﬂ induction that § + 10 -+ 15 + .......... + 5n = :511-(1;—1)
If f{x) = x> - 2, thea find £'3).
Show that tan (%« 0) = ~cotB

Seetion —~ C © Marks : 30

Attempt any THREE questions. Each question carries equal marks.
' + bt

For what value of n will (
. aI'I_l_.‘l)l'l

] be the harmomc mean between “a” and
l(b!!

1 o o

Showthat || B PB?|=(a—P)(B -1)y - )

Py ¥
; o oY
Show that (sin E +cos -2—) =1l+sina -
Show that _l_ic_o_sﬁ =coth
sin 20

Solve the triangle ABC by using the law of tangent, when b = 12, 5 ¢ =23 and
a=3820".

Find the angle of the largest measure. whena=7,b=9and ¢ =7,

Find the domain of the function y = cosce 2x,

Draw the graph of the function y = cos 2x when0 < x < 2n.



